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And a Gentile who sat in the window - 79172 22w 232210 T2

OVERVIEW

The ¥n>>72 includes a "33 among those items which can be 17712 vynan. Our MOOIN
discusses why a 121 should not be considered a nxmW %2pni 127, and therefore
should not be RV °192 7XI1.

- (ovyx,xD 41 PTIT NIN D992 NP 19 NPT 1INV Y291 19N 02913 T2)v1

A 121 is not N2 Dapn as we derive it from a 2105 in the last P22 of 273 noon -
= 9NP 1Y PRY D251 T2IY RYY HNPN TINN 92 RNV 9UN YIN) 229957

For it is written, ‘and a man who is X»v etc., and he will be cut off from within
the congregation’; this excludes a 721, for he has no 71, so he is not axmw 22pn -

mooIn responds to an anticipated difficulty:
= (8,79 97 113 8,0 97 naw) 201927 Y3Y D215 DINVY DN 2) Y 4N)

And even though the 2°»51 consider the 0°751 as 237 regarding all matters,

nevertheless -
= AINMPIVN 2391 PININ “ANMIV V2PN KD RNMNINTNIT 119D

Since ;793077 31 the 0°21 are not 7R»W Yapn they can be 8@ %192 Y.

n1voIN asks:
= 5997 NAOWAN SYIVA 99N N (3, 97 1) 19T NI PI93T 9NN ON)

And if you will say; that in 1217 R¥» P95 the Xn>72 states, ‘there is a greater

severity by a Y@ than by ¥97r nasw -
- NYD 1 ANMDIV DPITNT YT NIV D0 ANMIV HPIYN 1Y PR XIVNY

For by a yow there are no differences in its 782, however by 1"¥ there is a
difference in its 7X210°. And the X723 there concludes, ‘what is this difference in

the ax»W of 1''W -
= YT 9253 D7 925Y RN NN 193 NIN 0993 DIINIY? P2 NN

If you mean to say that there is a difference between the 1"w of @"»X=w> (which

I'See ‘Overview’; therefore since he is not Xm0 2377 he can be XMW *192 PN,
2 The 109 in 2,2° (NPM) 72712 reads, >R T7iMM K177 WHIT 70793 RUAN? X9 ROYY WK UOKR).
3 They are therefore (not only nx»w %2pn, but also) actually X»v, and something which is Xv can certainly not be
TRV °192 7YX, so how can the 121 be 1m2 vyHN?!
4 They are o°a1 only 132772, however XN X7 not only are they v, they cannot even be Xm0 92pn, like any living
thing (besides a 787w?).
5 A v is any one of the eight vermin mention in *1W nw5 which are Xnun when they are dead.
6 y11 N5V is semen.
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are Xnun), and the 1"w of @921 (which are not X»vn), but there is also here by a

7w a difference between a sea mouse (which is not X20) and a land mouse (which
is Xnw) -7
= 99939 IRV P INNMIV NPIYN PN NIV Synun

This indicates that regarding a y=w there is no difference in its 8» W, whether

it touched a YX=w" or a 21, which contradicts what maon said previously that a *721 is not
R Dapn —

nvoIN responds:
NIVA DINNV 02995 $72IY PNRT 2) DY GNT N NI IND

This is no challenge; for even though that 25951 are not y9wsa X»w», nevertheless
the X7m3 could not have used this as a difference by yaw (that it is only Xav» a HXW° but not a
"123), for if that would be the difference -

= Y97 NASYT NINT NPV NPIIN Y PN

The 718%% nPYs1 by a 7w would not be similar to the 7x NP2 by "'w -
- 9950 1PN 1591 YIWA YN P19ON NIIN N9 Y91 NAYaT

Because by 1''w the pY9°m is in the 8w itself (the 1"w of a YR is Xnwvn, but not

the 1"w of a »21), however by the y=w itself there is no P19 -
— TNV 13199 Y92P1T 1NN NN

Rather the 7%°11 is only concerning those that receive 8% from it -
— 103257 9299 07 929 VPNY TN 799N

Therefore it was necessary for the X712 to mention the difference between a sea

mouse (which is a YW that is not X»v») and a land mouse (which is a 7w that is
Xnun).

Moo responds to an anticipated difficulty:

7 The X7»3 there is asking how can you say there is no difference by yw nxmw, only by 1"w nxmwv, but we see that
just as there is a 171 by "W (between 78w and >33) there is a 7170 by yw (between o° and 7w2°).
8 The obvious question here is why did the X723 choose to use a different Y91 by v W (of 7w2" ©°) and not the same
721 which we assume by 1"w (namely between 751 9% w°). The Xy should have said we have the same
difference by yaw that it is Xnvn a 287> and not a 121, The fact the &3 did not use this P21 shows that there
indeed is no difference and a YW is Xnvn a 31 just as it is Xav» a 28>, and therefore the X3 had to choose a
different 717 (between 7wan o°). This contradicts all that has been said till now that a 121 is not 78»10 %2pn.
® When the X3 asked that just as there is a AR P12°7 by 1"w (between a 787w and a ™23) so too there is a 720
RN by a 98w, the Xmx could not have said that the ?2°n by yaw is that the X w» is axmw 93pn from the yaw,
while the >731 is not R 22pn from the YW (even though that it is true), since the P17°1 is not the same; by 1"'w we
are making a difference which type of 1"w is &Xnvn (only from a H8w», but not from a >731); however by 7w we are
not offering a difference which 7w is &nvn and which not; rather the only difference is what is the same Rnvn yw
(he is Xnun a YR but not a ™M>33); there is no a difference in the v itself!
10 Now the p17°11 is the same by v as it is by 1"w; namely that there are certain 2°¥7W who are X»vn and others who
are not, just as there is a certain type of 1" that is X»v» and another which is not.
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= 12532572 NNPVM N D221 TAIWYT (8,15 173 8,29 Naw) LIRVIYIN TPIVNINT NI
And the reason we require another exclusion to teach us that a s921 is not N»u»

72912 (even though we already have the v from %ipn [inn)!3; the reason we need this P09

also -
= IOy IoINT JNIYWN NI 1T ANNDIVMI NN YHIN NNRMIV IND NN HNNIVYT DIVN

Is because 7257 nR2W is not a 82w which one contracts by coming in contact
with something else, rather it is a 78”10 which issues from one’s own body, and
from this type of nx™ 1w we do not find elsewhere that the 2°721 were excluded -

Moo continues to explain the next case in the Xn»"2:
DN PPN RDT 1650 NINWD ARNIV DaPN 199N 151911V )29

And a baby born in the eighth month cannot be 821 %ap» while it is still alive,
for he is not considered a man.

SUMMARY

A 751 1is not 0" AR 22pn, and therefore he can be RV *192 Y¥IN even though
that 13127971 he is considered a 27. A 71%W 12 1s neither totally alive nor totally dead.
Therefore he is not X2 22pn.

THINKING IT OVER

What is the status of a 71w 12; if he is not considered alive, he should be 92apn
nxmw like any animal which can be R 9apn after it dies, and if he is considered
alive why is he not considered to be a person; what other kind of living thing is he
considered to be?!

' The 770 [in 2,00 (¥y71¥n) RIP*1] writes, RIT RRY 1217 12 27 707 2 UPR UPR D098 072K DRI %32 7% 127 We
expound this 109 to mean that only *"12 are 772°72 0°Xnv» but not °121.
12 This means that if a ™21 experiences a discharge of 72°1, he is not 0" xnw.
13 See footnote # 2.
14 We derived from "1pi 711" (see footnote # 2) that they are not Xm0 92pn from being in contact with a N (which
we consider to be like a ¥an nX»w), however this would not teach us that he is also excluded from 1727 nX™ W, which
is a 1911 Yoy R v, Therefore we need this additional P10d by 72°T Nk,
15 A annw 12 is a baby that was born in the eighth month of pregnancy. It is not deemed to be a viable child (in those
days). The xn>>12 teaches that it too can be 117m2 v¥mn, for it is not XMW 22pn as NBOIN explains.
16 No live thing can be xmw 2pn, except for a person; this 711w 12 is not considered a person since it is not viable.
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